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QUESTION BOOKLET

This qucs:tion paper contains 170 questions. / 39 Y 9 7 170 T § |
All questions are compulsory, / ¥t wea a1far 2 |

One question carries half mark only. / T 597 o T Sherer 31T 37 2 |

Maximum Marks : 85 1fereran 37 : 85
Time : 2 Hours qHY : 290
1.

Which is not essential for a person to become the Vice President ?
(A) He must be a-Graduate

(B) He must be an Indian Citizen

(C) He must not be less than 35 years

(D) He must be qualified to be a member of the Rajya Sabha
IY-Tsgafal S o fore safa 1 1 21 Savas TRl B 7

(A) & Eae BT =R | @m
(B) st s € e =
(C) 35999 %A &l a1 =R |

(D) TSI THT & TS BIH <l Irear gt =mieg |

2.  When does the problem of unfavourable baiance of payment arise ?
(A) When exports decrease
(B) When exports increase
(C) When imports decrease
(D) When imports are greater than exports

ST 9 S erReidl b WA % 351 8 7 i
(A) v Frafd gea? | (B) v« Prfawgai? |
(C) <=l TTd Te 2 | (D) = Fafa & smama s gran g |

3. In which year the Rural Landless Employment Guarantee Programme was
launched by Government of India ?

T T 2 Tord o TiTeior IR USTTR TG sk Shl YIEaTTa <hl 718 ot 7

(A) 1981 (B) 1983 (C) 1984 (D) 1985
4.  Which cloud is made up of tiny ice particles ?

(A) Cumuluscloud (B) Stratus cloud

(C) Cumulonimbus cloud (D) Cirrus cloud

1 g1 79 (Cloud) F&q T HUll & S BT & 7
(A) Ui Fa  (B) A (C) wureh o Aw (D) waw AW

5,  The study of heavenly bodies is known as

(A) Astrology (B) Astronautics (C) Astronomy (D) Ethnology
@At fave &1 31e8aH HE & —

(A) <ifem fasm (B) - siaferf (C) @i faem (D) Wiy fagm
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6. Hawaiian islands are located in :~ Ocean
(A) North Atlantic ocean (B) Sou?ﬁ ?;é?%téc()cean
(C) North Pacific Ocean ) (D) Sou _
gaTsd (Hawaiian) 3msaive ferd
(A) ST 3reaATfvesh HETHTR (B) froft SFeo 8
- (C) I W HETEER (D) aféoft ST AETEIT
7. Norwesters cause significant amount of rainfall in , B
(A) Assam and West Bengal (B) West Bengal ai:idA%?iﬁl;Pradesﬁ
(C) Bg;lar and Odisha ik (D) Tamil Nadu an
AT o HROT ITereh AT A , |
(A) 3rEm 3R affem s & (B) vﬁ*ﬂwﬁmg &
(C) FEr R d (D) aftrerTg 37N 21T e
8.  The most widely consumed cereal in India is ¢ A
(A) Barley (B) Wheat (C) Rice (D) Sorghum
TId o T8 31k TSl <l WU g 8
(A) tH (B) EH (C) TT@# - (D) GHEHH
9.  Uruswati Himalayan Folk Art Museum i¢ located at which place in H.P. ?
(A) Keylong (B) Naggar (C) Patta . (D) Chamba
ReTeret TR N T T T SEE 7T e shetl GaETerd fRrd 8 7
(A) = (B) TR (C) baT (D) ==
10. Burah is a folk dance of which district of H.P. ? :
(A) Sirmour (B) Shimla (C) Kullu (D) Mandi
et Tow % fopg e ¥ gUE A T B3R ?
A) R (B) TRmen (C) Fewl, (D) &
11. Lohri festival of Pragpur is which level of festival ? 1t _
(A) District (B) State (C) National Interaational
e = Al 3, (D) n ernafwn_a |
@ Fer o @ TE O TR D) s
12. Famous Shakti Devi temple is located at which place in H.P. 2 :
(A) Chhatrari (B) Bharmour (C) Baijnath (Dj Kk :
frarer v & fore v W wfg o St mfRe fm ¢ &
(A) Baud (B) | YHR (©) =y D) |
13. Rajiv Nayyar won the Parshuram award in which : J _
Trffa S 3 v TETS R o & Sfta ey
(A) 1987 (B) 1991 (C) 1994 LA R L
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14.

15.

16.

17

18.

19.

20.

21.

Maharaja {&grasen University is located at which place in H.P. ?

(A) Baddi _ (B) Waknaghat (C) Bathu (D) Indora
Temmret wew # fohe o W weren s e e g ¢

(A) =& (B) @AEE  (C) WY (D) =<

Bandli wildlife sanctuary is located in which district of H.P. ?

(A) Mandi (B) Chamba  (C) Solan (D) Sirmour
femmee wew & fore et 8 wrweeft 971 Sfig arvwamos i@ @ 7

(A) T (B) = (C) dem (D) R

When did Dr. Y.S. Parmar become the Chief Minister in H.P. for the first time ?
(A) 24" March, 1948 (B) 24" March, 1950

(EI) 24™ March, 1952 (D) 24™ March, 1956

€. 918,70, TR Tgel! 9 gei we a4 9 ?

(A) 24T, 1948 (B) 247, 1950 (C) 24¥H, 1952 (D) 247, 1956
Which Himachal Princely State refused to side with the British during the
war of Independence of 1857 ?

(A) Suket (B) Dhami (C) Kehloor (D) Bushahar

1857 % Tec=idl 9g o oA ford femmare Ut *mﬁaﬁ@rwm%ﬁ%mﬁm ?
(A) gehd (B) wrh (C) FEE (D) TR

Sh. J.C. Malhotra was the Chairman of

(A) HPPSC Shimla (B) HPSSC Hamirpur  mam

(C) HPAT Shimla (D) None of these 1%‘?,

st & &, Fegm srems 9 - (el

(A) HPPSC farmen & (B) HPSSC §HRE &

(C) HPAT Rmen (D) T ¥ IS &I

Total number ot assembly constituencies in Kullu district of H.P. is
femTarel Wam o oy ot o ferem a Farfem &l <61 ot g @ -

(A) 3 (B) 4 © 5 (D) 6
Kashang 1 hydroelectric project is constructed on which river of H.P. ?
(A) Satlej (B) Beas (C) Yamuna (D) Chenab
TemTerel Yo <hl H 1 Sefd Torega aiEe e T WA TR 8 7

(A) Ha (B) = (©) =g (D) =T
Guler Princely State was founded by

(A) Hari Chand (B) Alam Chand (C) Hamir Chand(D) Purab Chand
TR Tt T <l TAToT <6 oft

(A) W= (B) FEMERY (C) wRIRA (D) ugwa'lr
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22. B ier is situated in which district of HP.? e
(ffdﬁifiiﬁfr i s?;)a t Lahaul Spiti (C) Kullu D) Kangfa, ,_
%ﬂﬁam%ﬁmﬁaﬁmﬁwﬁ&mf@m%? e
@A) feie (@) wde-Effi (€) T @ =E

23. Pin Valley is situated in which district of HP. 7
(A) Kullu (B) Lahaul Spiti (C) Bilaspur
fmree wew % fopm Rt & e wrd e @ 7 - A
(&) g (B) e © feeR (D) T

(D) Hamirpur

24, Who is the first female swimmer to win seven medals in a single Olympi

event ?
(A) Janet Evans ' (B) Katie Ledecky
(C) Emma Mckeon (D) Inge de Brujin

T A 3o e i AT Tes S areh Tae Afee 4 Hi & ?
A) ST (B) FANRH (C) WidER (D) T

25. Who won the Hungarian Grand Prix, 2021 ?

(A) Sebastian Vettel (B) Lewis Hamilton
(C) Fernando Alonso (D) Esteban Ocon
it e e, 2021 Fogs e ?

(A) A A (B) TsH &ftreed
(C) TS AT (D) THeEA HH

26. Which country has recently become the first country in the world to
manufacture fossil-free steel ? L

(A) Germany (B) India (C) Japan = (D) Sweden
g1er €1 3 N 1 <, ST B ST S S G 61 5 3 e 7
(A) S (B):. A (C) Sm= (D) e

27. ' In a certain code MIGHT is written as LHFGS. How is BEL OW s
that code ? : : o :
o fiffea @is # MIGHT #I LHFGS % &9 # fofan wmr 2 | =t e @
BELOW ! faFa s forar < 2 _
(A) CEMPX  (B) ADINV  (C) ADKMV, (D} ADKNV
' AR TOV wuyz
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28.

29,

30.

31

32.

33.

34.

35,

36.

Sushil lives to the North of Rajesh who lives to the west of Kamlesh. Arun

who lives to the South of Sushil have his house in which direction with
respect to Kamlesh.

(A) North-West (B) North

(C) South-West (D) Cannot be determined
uﬁm%mfﬁmﬁg&ﬁarﬁm% | St fo smer o afgem foun # @ 2 | gefier
& fRor 7 T et R < e b e fn A s R 7

(A). ST-ufgdt (B) I

(C) Tlgur-ufyem (D) fruffea =& =t g
Antonym of ‘Malicious’ is

(A) Boastful ~ (B) Indifferent (C) Kind (D) Generous
One word substitution for ‘The normal abode of any animal or plant’ is
(A) Environment (B) Habitat

(C) Settlement (D) Niche

When I met her last year, she for five years.

(A) was married ; (B) had been married

(C) had married (D) would have married
Meaning of the idiom ‘To look dowz one’s nose at’ is q
(A) To backbite 3

(B) To show anger ' E

(C) To insult in the presence of others
(D) to regard with haif-hidden displeasure or contempt

‘3-IF’ T TET &

(A) TRy (B) it (C) &= (D) wgsfife
‘geare’ &1 9iy faese 2

(A) 9 + 3= (B) d@+°9< (C) &ft + 3= (D) aft + W=

‘a9’ = sy 8
(A) a9 (B) duft (C) wadt (D) T
‘wifare’ § ueag B
(A) B (B) @ (€) fim (D) ¥
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37. Which of the following is not a valid type for a table field in MS Access

2013 ?
(A) Email (B) Hyperlink (C) Long Text
MS Access 2013 3 et Hies 3 fore et 1 @ o a1 e T T € 7

(A) $-¥ B) TERRiE (C) @i (D) FE

(D) Currency

38. Two type of table views in MS Access are and Design View.

(A) Outline View _ (B) User View
(C) Datasheet View (D) Spreadsheet View
MS Access ® 3ecT o7 % <) ThR & v s = |

(A) FSEEAS (B) TR ) fes (D) B

39. How will you find the data fields beginning with the letters ‘A’ and ‘B’ by
- using “Find and Replace” dialog box in the datasheet view of a table in MS

Access ?

MS Access # 39 % 227 ¥t g ¥ dialog box “Find and Replace” T SN
T & ‘A’ 3R ‘B’ A IE & a1 71 GIeS T 31T FH8 T Hal ?

(A) (AB)* (B) \AB% (©) {AB}3 (D) [AB]*

40. Which of the following field types in an MS Access table is readonly ?
= o & 319 971 MS Access Table %1 (1€ 31l Hieg 2Tr=q & ?

(A) Short Text (B) Currency
(C) Date/Time - (D) Calculated

41. What is full form of ODBC ?

(A) Open Database Connecti.vi_ty (B) Object Database Connectivity
(C) Other Database Connectivity (D) Oracle Database Connectivity

ODBC &1Vl €4 F1 2 7

(A) o Teram FAfaeiad) (B) sz 3ere R
() e Seraw Afacfad (D) 3 Serm FRR
Code No. : C-;744_12021/Series-l) 8
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- 42,

44.

43.

46.

A key consists of one or more attributes of a table that is a primary
key of some other table in the database.

Y (key) N s ae % U A Ak 7 Wikt & S ST d FO I
g 1 urHd f R |

(A) Foreign (B) Secondary

(C) Alternate (D) Candidate

What is the decimal number represented by (10101010), number in binary
number system ?

TS T uehy 3 S (10101010), g eifa e den Hr i 2 7
(A) 210 (B) 164 (C) 170 (D) 168

What will be the representation of —25 in 2’s compliment form ?
2’s SiEfeTA=E o &9 § — 25 T &0 741 8N 7
(A) 10001101 (B) 11100111 (C) 10011011 (D) 11001101

Which data structure is also known as First In First Out (FIFO) ?

(A) Stack (B) Tree (©) Queue (D) Array
S © STeT S First Tn First Out (FIFO) & oft It STt 8 2
(A) V% ® & (C) (D) 3R

Consider the following data in an Excel Sheet. What will be the value
returned by Ixcel formula “=count (Al : C5)”?

e e U fmfaRaa ger 1 fommor il | e BEE “=count (Al :
C5)” I I |1 9 ST 81T ?

A [ 3 T o 205
1 S. No. Name Marks
2 1 Aman 6
3 2 Anuj 7
4 3 Chinmay 1
5 4 Dhruy 2 :

(A) 12 (B) .15 (C) 4 (D) 8 _
9 Code No. : C-744/2021/Series-D
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4.

48.

49.

50.

510

52,

A is a powerful tool in Excel to calculate, summarize, and analyze

data to find out patterns and trends, O} R
(A) Pivot Table (B) Filter (C) !}‘flacro ange :
E‘q’ﬂﬂﬁﬂﬂm,ﬁrﬁwm\zﬁzdawmﬁmmiﬁ%{q%ﬁrﬁm .

H T T Rl ¢E @ |
(A) Reedwa  (B) frext (€) B (D) T

In an Excel sheet, the cell A2 contains a date value of 10-Dec-2021, then
what will be the value returned by the formula “=text (A2, “dddd”)” ?

Excel sheet § Cell A2 10-Dec-2021 @1 22 ¥ T@al 8, A “=text
(A2, “dddd”) % gl 1 dog W BIT 7
(A) December (B) Friday (C) 344 (D) 6

The cell Al in a certain MS Excel sheet contains the value 212, what will
be value returned by formula “=ceiling (A1, 5)”7?

MS Excel Sheet ® cell Al # 99 212 2, BHen “=ceiling (Al, 5)” g
1 HH JT &I ?
(A) 212 (B) 200 (C) 210 (D) 215

What will be value returned by MS Excel formula “=BASE (212,2,8) 7 ?
MS Excel Gife “=BASE (212, 2, 8) " ¥ 1T JIs & ?
(A) 10010101 (B) 11010011 (C) 1101011 (D) 11010100

What will be the value returned by MS Excel formula“=CONVERT
(1,2, in" 2EV"?

MS Excel BFeli “=CONVERT (102, “in”, “£t”)” § T 7H W<
&I 7

(A) 8.6 (B) 8 (C) 85 (D) 83

Consider the following data in an Excel sheet : SnoMarks 16 219 38 42 540
624. What will be the value returned by Excel formula“=MEDIAN
(B2:B7)" ?

ety e § fam 2w fammor i ;

SnoMarks 16 219 38 42 540 624

Excel Higell “=MEDIAN (B2 : B7)” A 1 WA W B 7

(A) 13.5 (B) 14.5 (C) 165 (D) 17

e i e g . S S P o) S S S e i A i ——— ——— —— ——
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In MS Excel, a is a sequence of recorded keystrokes and mouse

53.
events that can be replayed as many times as one want.
(A) formula (B) macro (C) table (D) array
MS Excel H wF pide Hiw ot 7199 9= I diea B S HiE
Rraft s =TEan 8 i o Hehal
(A) e (B) i (C) 2= (D) 3R
54. Which of the following is not a valid cell address in MS-Excel ?
MS-Excel 3 77 & % 71 39 3 QA T 2 7
(A) A:41 (B) BAS10 (C) Ac210 (D) $AB10
55. How many cells are there in the cell range A10 : D30 in M3-Excel ?
MS-Excel # A10 : D30 40t 8§ fhe ST 8 7
(A) 80 (B) 76 (C) 84 (D) 60
56. The concept of was developed by J.M. Jacquard in 18" century to
control textile looms. EAE
(A) Abacus (B) Napier Bones &
(C) Punch Card (D) Difference Engine
184 wrareqt | i Aggrn @ fehkn FE T I, JEE o
Torem oaersa 9| &1 a0 {6 |
(A) THaE (B) AfeREw  (C) WHE (D) fewtgssm
57. Fourth generation computers used microprocessors which were designed
using the technology. 2
(A) Transistors (B) VLSI
(C) Vacuum Tubes (D) Mechanical Relays
aﬂzﬁmwﬁmﬁﬂmmwﬂnmwmﬁ#mﬁ
_ ciepeiTehl %1 IYFRT ok STTa %n [
(A) gifret ' ®) vLsI
(C) Trata aferen (D) =ifyes et
11 Code No. : C-744/2021/Series-D
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S8.

39,

60.

61.

62.

63.

FLOPS is a unit to measure the processing speed of computers. What is full

form of FLOPS ?

FPRR ¥ TRAR wfis 1 7T i gfre FLOPS | FLOPS S QU ST FITE ?

(A) Floating-point Operations Per Second
(B) File Listing Operations Per Second

(C) Foreman Libniz Operations Per Second
(D) Fast Long Operations Per Second

B2B, B2C, G2C and C2C are the forms of 3

(A) Cloud Models (B) Programming Styles

(C) E-Commerce (D) Document
B2B, B2C, G2C 3 C2C 30 &9 8

RGN FARE HisA (B) Wi wEw (C) 3-%mE

The sensor in mobile devices tracks the orientation whenever the

device is rotated.

Hisse fearsai A He TR 3% Far 2 o i Ramm We g |

(A) NFC (B) Gyroscope

(C) GPS (D) IAccelerometer

Microsoft is a cloud storage service that lets you store and backup

your files.

AEFRIEIR Th 1SS TRe HISH & S STTUeh! SATTh! HTEe o o 37 3 TR

H gl g | o _
(A) S3 (B) DropBox  (C). HiDrive

In mobile phone systems, a geographic region is divided up into to

implement the concept of frequency reuse.

tharsaqﬁqﬁmnﬁ,qmaﬂiﬁmaﬁaaqﬁrgmmmﬁmwaﬁaﬁm

T & 1 A gane |
(A) ISPs (B) grids (C) cells

What is full form of IOT ?

JOT =1 01 &9 & —

(A) Input/Output Test .,
(B) Internet Open Telecommunication
(C) Input Output Terminal

(D) Internet of Things

Formats

(D) STRIHE HiHe

(D) . OneDrive

(D) locations

Code No. : C-744/2021/Series-D' 12
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64.

65.

66.

67.

68.

69.

! is a platform provided by Amazon that provides scalable and cost--
effective cloud computing services.

IMTH ¥ g U iew o s & S 6 Shelea 3R $ie-

Thiaea FeT9e Hrgfen afda wgm Ht R |
(A) AWS (B) BFS (C) NTFS (D) GFS -

is a register in CPU that stores the intermediate result of arithmetic

and logic operations.
(A) Program Counter (B) Accumulator

(C) Memory Address Register (D) Instruction Pointer
CPU # Toh TR & St aiepmiioreiier 3 @iffen STateH & qia Retee R

TR |
(A) ST FHRUX (B) T E%‘?
(C) A 2H R (D) TEEHRM W5 (=l

In CPU addressing mode, the operand is included in the instruction
itself. :
CPU Wit e #, =g 3 31y~g idifora g 2 |
(A) direct (B) immediate (C) indirect (D) indexed
Which is an example of secondary storage device ? '
(A) ROM (B) PenDrive (C) RAM (D) Cache Memory
TS RS A HIsq@ndA AR 7
(A) T (B) Wge@ (O W (D) o 39

Which of the following memory types has highest speed and minimum

latency ?
(A) CPU Registers (B) Secondary Memory

(C) Cache Memory (D) Primary Memory
=i @ I & A0 ey & I=aH T 3R Freae ae gt ® 2
(A) CPURRRC (B) ¥HvSaull (C) FMAMK (D) gt aard

Cache memory works on the principle of ___

w1 i o fargra wowrl el @ 7

(A) Jast-in-first-out (B) locality of reference
(C) total internal reflection (D) first-in-first-out

13 Code No. : C-744/2021/Series-D

https://snowstudy.in




70.

71%

72.

3.

74.

The two cache memory write policies are write-backand .
21 Sy AR e et € write-back 3K e v

(A) write-on (B) read-front

(C) dirty bit (D) write-through

The programs stored in ROMs, PROMs and EPROMs of a computer
system are called

(A) utility programs (B) boot sector
(C) software (D) firmware .
FPeX fRRH % ROM, PROM and EPROM # WX programs F&d & —

(A) IR vam (B) s dwx (C) @iwaAsW (D) HHASN

The ___ keys on a QWERTY keyboard have smali bumps on them to
help position the fingers without looking at the keyboard.

(A) FandJ (B) AandL

(C) KandS (D) Zand M

QWERTY &g T F (keys) W STer 579 Brar & 91 fomm HI-31E &
@ e Y Ry o wemar e § |

(A) F3RJ (B) A3RL (C) K3RS (D) Z3RM

RAID technology combines muiiiple physical disk drives to achieve speed
and redundancy. What is {uil form of RAID here ?

18 (RAID) do-1sh! # Tilg 3R figeHt < w1 1 ga 9n ifees e grea
HETET B0 8 | Ta8l T RAID &1 0 &9 8

(A) Redunant Airay of Independent Disks

(B) Rapid Access to Independent Disks

(C) Read only Access to Interlinked disks

(D) Reduced Access to Interlinked Disks

Which of the following optical medlia storage has the highest capacity ?
(A) Blue-Ray Disk - (B) Compact Disk

(C) Compact Disk — R (D) Digital Video Disk

T @ B 1 AifRwe difedn @R & fred srfteray mar g ?

A) =9-1few=h = (B) Hiw &&= .

(C) =i fswh — R (D) feforem fafem fewr iy
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76.

77.

78.

79.

Which component of a laser printer melts the toner particles to form-
permanent impression on the page ?

(A) Drum (B) Imaging Unit(C) Mirror (D) Fuser

oo it &1 B |1 FrA S aifése @ e i & it R O W B

TR ?

(A) $H (B) wRmyfe (C) (D) T y
Which of the following storage media uses flash memory ?

(A) Solid State Disk (B) CD-ROM

(C) HDD (D) Floppy Disk &

W A T e AR R A A e 7 &

(A) bifvs we fo=s (B) CDm .

(C) HDD (D) WA few=m

Arithmetic Logic Unit (ALU) is a fundamenial part of _  of a
computer. _

(A) CPU (B) Memory

(C) Input/output (D) Operating System

FE & T SR A (e (ALU) T&F T BT 2 |

(A) CPU (B) #Hri

(C) ¥9e/318eYe (D) TR feen

The in a computcr provides the option to change the priority of
booting options in the computer system.

(A) System Registry (B) BIOS Settings

(C) Control Panel _ (D) System Recovery

o A e Ren § e anueH | Wil S i %1 SA9vE
Y HATE | '
(A) frea R (B) BIOSHERM (C) s (D) fiwen Rwadl

Which is a wireless technology that uses multiple transmitters and receivers
to transfer more data at the same time ?

mmmm@%ﬁmmmaﬁzmmwmw

2 aag 7 it 221 Zaw feRaT S R 7
(A) WEP (B) SSID (C) MIMO (D) WAP.
15 Code No. ; C-744/2021/Series-D
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80.

81.

82.

83.

84.

Which of the following layers in ISO OSI reference network model lies___
between physical and network layers ? 5 _ '
(A) datalink  (B) application (C) transport - session .
ISOOSIWWWﬁWﬁﬁWNWW@TW@W% o
S wAR ?

A) sifis  (B) wetewH (O ZEre (D) &9F

Which layers in 1SO OSI reference network model is responsible for
routing of packets over network ?

(A) physical (B) datalink = (C) network (D) transport
ISOOSIWWq‘@aﬁﬂ:;ﬁwaﬁ%mm%mﬁn%%ﬁ
R B & ?

A) fofms (B) safi®  (C) (D) g

A web based information repository that is collaborately edited by the
members of the concerned community is called a

(A) web application (B) wiki

(C) portal (D) blog

o 3 s e R S e R A % g et
wEifes BT & FHewr 8 T

(A) JoTAHE (B) (C) TR« (D) =T

The frequency band of the spectrum reserved for unlicensed usage is called
band.

(A) Bluetcoth (B) ISM (C) ISP (D) WiFi

TS 7T % TR g % sha de o Bl &, FEe §

(A) =R B) ISM (C) ISP (D) -

A computer can capture all packets being transmitted over the shared
transmission medium by setting the network interface in mode.

(A) active (B) safe (C) promiscuous (D) dormant
mﬁmm@mmwwwmmm

%wmﬁz%mﬁaﬁmﬁﬂaﬁaﬁWW% l

(A) TfFea (@fHa) (B) A% (gufdr)

(C) e (faf?a) e (D) swe (i)

" Code No. : C-744/3021/Series-D 16
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85,

86.

87.

88.

89.

90.

Which of the following is an invlid IPv4 address ?

<7 @ B a1 ARTE IPv4 Address 8 7
(A) 10.10.1.1 (B) 218.248.240.79
(C) 74.21.18.251 (D) 192.168.1.270

Which of the following IPv4 address series is reserved by IANA for private
use ?

sqﬁaaﬁwmlANA%mUm@Zw%%um@amﬂmé% 7

(A) 192.168.0.0 to 192.168.255.255 (B) 74.48.0.0to 74.48.255.255
(C) 16.16.0.0 to 16.24.255.255 (D) 190.168.0.0 to 190.168.255.255

Which of the following is a type of optical fibre cable ?

(A) UTP (B) Ethernet (C) Multimode (D) CAT6
ﬁﬁ%ﬁqmaﬁwmm%m%?
(A) UTP (B) 3¥wE (C) TeHIE (D) CAT6

What is the full form of the term WEP used with Wi-Fi security ?

Wi fET b e I SO AT WEP 1S9 F 18 7

(A) Wireless Equipment Protection (B) Wireless Electronic Privacy
(C) Wireless Enabled Password (D) Wired Equivalent Privacy

Which of the following is generally not a function of an operating system ?

(A) Process Management (B) Protection and Security
(C) Word Processing (D) Memory Management
T T T O SR R FFE TR 7 et
(A) Fismar TA-4A B) gE T
(C) =€ vrEtEm (D) wfa s

Which of the following CPU scheduling algorithms may not cause
starvation ?

=z # %A 91 CPU W@Hﬁmﬁlﬁm (starvation) 1 SR &I &
qFENE 7

(A) Shortest Job First (B) Shortest Remaining Time First
(C) Priority Scheduling (D) Round Robin
S T . 006 Nou TC-74472021/Series-D
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91.

92.

93.

FLEHAE 7
(A) By pressing ctrl+alt+shift
(B) By moving the mouse cursor at the end of the taskbar
(C) By shaking mouse cursor
(D) by long pressing shift kev
94. What is the short method to minimize all other windows except the one you
wish to keep visible in Windows 10 ?
oS 10 4, S 319 <@ & 355 © 39 orfafes oft I T =) Rrfiars
FA BT E AYS R T 7
(A) By long pressing ctrl key
(B) By grebbing the window’s title bar using mouse and shaking it
(C) By pressing F1 key _‘1-
(D) by pressing ctrl+alt+s ,
95. In Windows 10, the provides quick access to notifications, toggle
battery saver mode, choose a network and access tablet mode.
(A) Menu bar (B) Quick launch bar
(C) Action Center (D) Status bar
faers 10 4, ___ it ek wftw uge, eirer ded AR Wie, Yeud T
3R TAere HIE UaHE W o @
(A) HaN (B) faaddfaan (C) wRd= (D) Regan
Code No. ;: C-744/2021/Serles-D 18

A is a memory area that stores the data, while. it i§ being transferﬁe
between two devices or between a device and an appllcatl(cl))n). .y
(A) spool (B) stack (C) buffer C
_ T O 8w R S R 3 =R T 8, Erl'%uaa‘fﬁ;aﬁa‘rm%a@aﬂ;

THAIHYH & & gt Al | - |
(A) ¥ (B) ®#® (C) (D) &=

Which of the following is not a major version of Microsoft Windows
Operating System ?

AEHIEIR el HATRfen Ry &1 e78 & S a1 S aei T8l 8 ?
(A) Windows Vista (B) Windows XE

(C) Windows ME (D) Windows XP

In Windows 10, how can one sneak a peek at the deskiop without closing
or minimizing all the open windows ? g

o 10 #, |t 3w Teie =1 o &g 31 BFoes 99 o o s 39
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96.

97.

98.

99.

100.

101.

Which of these describes a situation when a computer does not respond to
any input from the user ?

(A) sleep (B) hang (C) suspend (D) boot

T A B w1 39 AR F1 avit w | s B FIe T G G W HES
Respond & T R |

(A) wfa (B) & (C) weIg (D) 32

A is a situation that arises when two threads access a shared variable
simultaneously and the final value in the variable depends upon the order of
execution of thread instructions.

(A) deadlock (B) race condition

(C) belady anomaly (D) cache miss

. " e TRARR £ ) Jewe B & Ta Q) 91 T FIE T UF 91 T
1 & e sifm qew () S Frisit % st i dvft w i g |

(A) Ss@i® (B) WM  (C) I T (D) i for

What is the format of an Android application package file ?
Android TS 39 Hgel 1 791 B 8 7
(A) EXE (B) DLL (C) APK (D) APF

Red Hat is an example of

(A) Anti-virus Software - (B) Linux Distribution

(C) Database Management System (D) Image Editing Software
Red Hat T IS8 & EaE
(A) TA-TRE FTHRAH (B) ATSE 3TTeeA i
(C) TreraE Faeie famew (D) A ufedin wivea

What is the Linux command to delete a file ?

T FTge F feetie FH & T A Fas A R 7

(A) erase (B) rm (C) del (D) kill
A/An reads one statement at a time, translates it into machine codes,
executes it and then goes to the next statement of the program.

(A) assembler (B) interpreter (C) linker (D) compiler

T uF Y B T W H g €, 30 wufiv fe H srEed s g,
74 Faromfea ot 1T % 3Tl LA T SR | e
(A) TEEAT (B) FeOA (OREED (D) FHHATEH

i i — ——— ——— S— —

—_—
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102. Which uses mnemonics for machine instructions and names for CPU i
registers and memory locations ? :
(A) Machine language (B) 4" genzll‘atllon language
(C) High level language (D) Assembly language : :
= § 9 s, i Péel & fore ek CPU Prti wd aHrh et % fag
IR (Mnemonics) ST 3UFNT @l & ? '

(A) W= W (B) =eft it <ht W
(C) 3= gy (D) HISTaRUT HIHT
103. Which of the following programming languages was invented by Guido
van Rossum ?
(A) C++ ®B) C (C) Java (D) Python
= 7 8 = i Sfi v et 3 Juw g @i TS off
(A) C++ B) C (C) < (D) 9=YA
104. Which of the following programming languages uses the concept of classes ?
(A) Functional (B) Object-oriented }
(C) Procedural (D) Aszembly H
= 1 @ = < wnfi v o % frgia o udm et R 2 |

(A) THElHE  (B) @w-3g@ (C) WoRaTHs (D) SiSiaw®

105. What does the flowchart shown below perform ?
(Start 0

!
D Bead n ;

x=1

<g>D>f*=x
/ Printx /
(Stop)

(A) generate n terms of Fibonacci series
(B) compute factorial

(C) compute sum of first n natural numbers
(D) generate multiplication table of n

Code No. : C-744/2021/Serles-D 20 = —
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gurtan T T v = e renfia s g v

D
/ Re;d n ;

x=1
' l
1 x=x%*
m=n-—1
/ Print x

<> o2
(A) TREHT e % n 9 39~ HHT :
(B) Hh (SerifEet) TomET

(C) WUH n WThicreh G & S hl TUHT
(D) n <hY T[T ATITeRT Scd— hiAT

106. How will you create a perfect circle using oval tool in MS PowerPoint ?
(A) By holding Alt+Ctrl key while dragging mouse to draw oval.
(B) By holding Alt key while dragging mouse to draw oval.
(C) By holding Shift key while dragging mouse to draw oval.
(D) By holding Ctrl key while dragging mouse to draw oval.
aTTT MS PowerPoint T 2715 T8 &1 I9F1T X Teh 1 I ohd ThR 1A 7

(A) WISH I g1 3T e Tt o FTd THA Alt + Ctrl 31 1 e
(B) HISH W i STt ek Tiereh o ITd F7T Alt <l a1 T

(C) IS i g a7 Tiee of A1d G4 Shift T T qaht
(D) HISE I g1 3Tae 7o Giaet o STd T Ctrl Y %Y gt

107. Which of the following is not a type of animation in MS PowerPoint ?
(A) ?otatior} . (B)‘ Emphasis  (C) Motion Path (D) Entrance -
MS JiR-w15e # 4= # & S 1 OrisH S Uh TR A e 7 ' |
(A) T (B) Wi (C) H ATy (D) TeE |
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108. The view shows current slide, the next slide, speaker notes and a

timer to help the presenter. -
(A) Print (B) Presenter (C) Web (D) Outline

L oy gfedl e % R S0 WS, STl s, T Al

HRTFR QTR |
@A) fie - (B) ™A (C) 3« (D) 3STATH

109. What is the correct character sequence to be typed in equation editor in MS

n
Word to insert the mathematical formula : ,Eln ?

l=

M 7 & v Qe i g ;2 n R e 3 o S 7w

A T HE SR T8 ?
(A) \sum% (i=1)*(n)n
~(C) \sum$(i=1)!(n)n

110. What are the names of two fictional characters commonly depicted as users

to demonstrate cryptographic systems and protocols ?

(A) Marcos and Christie (R) George and Mary

(C) Philip and Julie (D) Bob and Alice

STigTer 3 ETrE 07 i Gt o R 39 G fharTer SRaedl i AH w1 g S

(B) \sum_(i=1)"(n)n
(D) \sigma_(i=1)"(n)n

TRt SR % &9 8§ fafya S E 7
(A) AR 3 Rl (B) st 3t &t
(C) Tonfera 3R eft (D) fa ik ufera

111. Plaintext is transformed into by applying an encryption algorithm.
(A) ciphertext (B) key (C) digest . (D) alphatext g |
e I TR & SR gRI o SAe H A oafdd RS} 1 . f
(A) ST  (B) @ ©) TR (D) TTHRTRZ

112. Bitcoin and Etherium are examples of
(A) Anti Malware
(C) Cryptocurrency
fereape 3 Fofe SEE & -
(A) TATEER (B) SeE@  (C) BRARE (D) s wfdw
113. Which of the following tags in HTML does not require a closing tag ?
HTML & 77 & & I & 1 &1 Felll &1 bl avaehal T8l &t 7

(A) <button> (B) <p> (C) <input> (D) <a>

(B) Database Systems
(D) Cloud Services
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114. Which of the following is not a valid tag in HTMLS ?
HTMLS A i @ S ar s g anadi & 7
(A) <img> (B) <1i> (C) <checkbox> (D) <em>

115. Which language is mainly used for client-side scripting in HTML
documents ?

(A) JavaScript (B) C. (C) Java (D)_Python
HTML Sl § Fie a15e 1 fiftag o & g = § & gera: w9 @
HIST ST HI ST R 7

(A) SEfeFe (B) C (C) wmar (D) 9RRE

116. Which of the following HTML tags is used to create a numbered list of items ?
el <l T T T S 3 g e 8 @ 9 ot HTML 31 sweim R sman @ 2

(A) <nl> ~(B) <num> (C) <list> (D) <ol>

117. Which HTML tag is used to create a cell in a table IOWA N, °
T et T & U et s & e froer & & = w1 HTMIL 20 s Reansian & 7

(A) <td> (B) <cell> (C) <fieid> (D) <tcell>
118. How will you add a tooltip to an HTML element ?

(A) Using style attribute (B) Using tip attribute

(C) Using title attribute (D) Using src attribute

T HTML 3o | 379 T ¢l -T0 =) o6 Thm S 7 oan

(A) w5 9T % IR (B RumEHswmy  Ee

(C) <r3fest o1 & 39 & (D) src U1 % ITAT F

119. Which HTML tag is used to insert a horizontal line in an HTML document ?

TF HTML Sfie 3 @5 &ifst oe9 % fraem & fve =89 @ HTML 3 3o

e s 7 '

(A) <ol> (B) <ul> (C) <hr> (D) <1i>
120. The HTML entity to insert a < symbol in HTML ciocument is

HTML siagiie &, < el o T B HTML v 2 —

(A) $1t; (B) *1t; O eley s (D)i%lte;

- 121. AnHTML comment is enclosed inside
T HTML #1fe % I IREE R |
(A) € =.~and. - .- > (B) <* and *> :
€) <! and 1> (D) <! - - and - - >

A | 23 Code No. : C-744/2021/Series-D -
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122. What is the default size of text in <h1>HTML element g
<h1> HTML 37aaa & 2o ) fwice @t #1 8 7
(A) l.5em (B) 1.75em (C) 1.25em (D) 2em
123. What is the full form of CSS ?
(A) Cascading Style Sheets (B) Common Spreadsheet
(C) Coded Style Sheet (D) Compact Solid State
CSSH i ET T8 ?
(A) FEhfEn wEa e (B) wmr Brede
(C) Hfeq wrEa e (D) Wi [ifeTs &
124. How will you select the outline color of a shape in Microsoft Paint ?
(A) By holding the Ctrl key while selecting the color fron the palette.
(B) By holding the Shift key while selecting the color {rom the palette.
(C) By holding the Alt key while selecting the color trom the palette.
(D) By holding the Ctrl+Alt key while selecting the color from the palette.
rEshEiTe 42 H T 9 ol S8 (ATSeTsH) it 1 pa g =31 BT ?
(A) ¥ @ T T % QA Ctrl i i 76T T HL |
(B) ¥ & U1 1 T o G Shift 1 Al T T K |
(C) ¥z & 11! I G Alt i I GoTe T& |
(D) &eie & 11 T G Ctrl + Alt 1 T G T T |
125. Which utility in Windows OS is used to create disk partitioning, réSiz’e |
partitions and format partitions on storage drives ?
famere OS #, sier afft | fow wiidem, wiféer frarsst sit aiféem widfe =i
T 6 R forey & @ i & ZRRAE s i STl @ 7
(A) defrag (B) diskpart (C) scandisk (D) dd
126. Which toolbar in MS-Word 2013 by default contains three commands —
Save, Undo and Redo ?
(A) Format (B) Quick Access _(C) Custom (D) Standard
MS-aE 2013 7 a7 fethee M & o STCH i haTs Bl & — ¥, 31g 3R fig ?
(A) ®He (B) TRewEE  (C) F&A (D) wred
127. What is the shortcut key to Redo the undone changes in MS-Word ?
M. if ] 0, e g e 1 T e R R 7
(A) CtrltU (B) Ctrl+Shift+z
(C) Ctrl4R (D) Ctrl+y
Eo?ﬁﬁ??é?iﬁil&eries-n 24
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128. Pressing removes character-level formatting from the selected text in
MS-Word document.

MS 7€ S & T gU R A e T H AR g ge iy |
(A) Ctrl+Enter (B) Ctrl+Space

(C) ctxl+Q (D) Ctrl+4Delete

129. APA, Chicago and MLA are standard
(A) document formats

(B) email compositions
(C) spreadsheet formats

(D) web site styles

APA, Chicago 3R MLA ? 9 — %%?
(A) Siapie BiticE (B) A FHNITE  Epr
(C) Wisxite Bty

(D) o9 UT5E WiEH

Which tab in MS Word provides options for table of contents, footnotes
and citations ?

(A) References (B) Format (C) Standard (D) Tools

Msaéﬁﬁqm%aﬁﬁaﬁmﬁiw,gzq‘iﬁ;ﬂtmﬂ % foru fosrea wgm
@R ?

A) =g (B) WRAT (C) =sé

131. What is the shorfcu1_: key to set line spacing of 1.5 in a MS word paragraph ?
GMSTEHIGH 1S A TH DR R wrsa NS Fe R g 7
(A) Ctrl+} (B) Ctrl+s (C) ctrl+o0 (D) Ctrl+?

. What is the shortcut key to show “Replace” dialog in MS Word ?
MS T I “Replace” ST ! G 6l M we A am d 2
(A) Ctrl+k (B) Ctrl+G (C) Ctrl+r

(D) Ctri+H

- Which of the following languages is used for programming a macro in MS

Excel ?
Mswﬁﬁ@%ﬁ%m%ﬁmﬁnﬁ%ﬂﬂﬁwmﬁwaé ?
e (B) VC+ (C) Python (D) JavaScript
. Which is a software too] inc] i - '

ot sele et ol cluded with MS Word that provides synonyms
(A) macro

: (B) thesaurus (C
MS =€ & %17 g TTRRR (C) _ autocomplete (D) autocorrect

130.

D) o

3, 7 I B S g T et W forw wmeff wee s
(A) e (B) <wH (C) AierFmelie (D) ITTa W
e 25 . Code No. : c'344i2021!$eri_cs_rD' :
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135.

136.

137.

138.

139.

140.

By using option while printing more than one copy of a multi-page
document, the printer will print all the pages of each copy before printing

the next copy.
(A) spool (B) collate (C) duplex (D) sort

e ¥ 39N g B 36 AR U ag-gedia gigiie Al T @ S
FTft ¥ Rore, vt it yat ) v it aredt i fre F & veet B F

|
(A) ¥ (B) el (C) ggew® (D) wié

Entering the number 0 in a cell in Excel sheet and formatting it as date will
show
(A) January 1, 1970 (B) Invalid Date E
(C) January 0, 1990 (D) January 1, 1900

e e o T Fer & 0 T Wi e 3R 3@ aing (22) ¥ &9 F HIAE HH
R fe@mem

(A) St 1, 1970 (B) @3y ami@

(C) sl 0, 1990 (D) e 1, 1900

What does the letter ‘R’ means in a CD-R disc ?
(A) Rewritable (B) Reduced (C) Recordable (D) Read only

% CD-R fer & ‘R’ s =1 3rd 3 7
(A) Tageaa B) figrs (C) feigsa (D) {ie et

Which layer in TCP/IP nciwork uses ‘Segment’ as transfer unit ?
(A) TCP (8) Physical ©) Application (D) IP
TCP/IP Yeas &I & 7dlt ot “Smiie” &t SRV 3hTS o T H ITAM FA1 8 ?

(A) TCP (B) Hifie (C) TSR (D) IP

Which is 2 communication mode in which the both sender and receiver

may transmit simultaneously ?
(A) Half-duplex (B) Simplex (C) Full-duplex (D) Serial
e 1 7 Frm war AT B G Bvet TR Oefier Tk T T R AT B ?

(A) FH-ggeiad (B) fammmd  (C) Foi-ggmw (D) Hifwrd
Which of the following is not a technical specification for a printer ?
(A) Duplexing (B) DPI (C) PPM (D) Contrast Ratio
e 4 @ #i |1 va et & for aenieht fafieem i & 7

(A) Tg=afaqm  (B) DPI (C) PPM (D) hgre Wr
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141.

142.

143.

144.

145,

146.

An escape sequence begins with a character in ‘C’.
(A) $ (dollar) (B) /(forward slash)

(C) \(back slash) (D) % (percentage)
‘CH_ R T WY ST YE AR | |
(A) $ (SeR) (B) /(®REE®M) (C) \ @F W) (D) % (Sfmra)

What does the letter ‘C’ stands for in CMYK color model ?

(A) Cyan (B) Cream (C) Crimson (D) Cherry
CMYK %eR Hisd § 18R ‘C’ 1 Taeie & 7

(A) &= B) Hm (C) shmEa (D) =

Which of the following symbols represents the address operator in C
language ? EAE
(A) $ (dollar) (B) * (asterisk) &

(C) & (ampersand) (D) ~ (caret) o

e 58 % & weftes C v ¥ v avioet o Rl 5 8 2
(A) $E)  B) *@F) (0 & (@) (D) G

What is the unit of frequency ?

(A) kbps (B) second (C) hertz - (D) ampere
TR 6t 5HhE AR ? s

(A) kbps (B) #vg © & (D) TR
What is the Linux command to dispiay a list of running process ?

ma%ama%q?ﬁaﬁuaﬁfdaﬁﬁammw% ?
(A) proc B) 1p © 1s D) ps

; is a network service to resolve the human readable domain names
into IP addresses.

AT 33 7 1) 1P 3 et o S e

(A) DNS (B) SNMP (C) DHCP (D) ICMmP
147. Which. of Fhe following is an email client software application ‘7 |

(A) Filezilla - (B) Wireshark

(C) Thunderbird ; (D) Mozilla Firefox

#m@é—%mmmé ?

(A) wrerfsren (B) 9RR W

(C) yugws (D) TR BT
TR % 27 Code No. : C-744/2021/Series-D
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148.

149.

150.

151.

152.

Which of the following organizations oversees the allocation of public IP
addresses in a fair and consistent manner 7

ﬁmﬁﬁ@qquﬁéﬁm@ﬁaﬁaﬁmﬁﬂwaﬂ%ﬁﬁmﬁ

e ?

(A) IEEEE (B) IETF (C) W3C (D) TIANA
What does GPL mean in free software world ?

(A) GNU Private License (B) GNU Protective License
(C) GNU Public License (D) GNU Programming License
T WS g § GPL H1 T 1 R 7

(A) GNU WTge ega=4 (B) GNU ¥rfies arga

(C) GNU ufeeh read (D) GNU snfiim w4

Which of the following is not a valid hexadecimal nunber ?

= 3 & R v Ay ey Ui dE E E 7

(A) CDE (B) BCD (C) EFG (D) DEF
The modulo operator is represented using symbol in C language.
(A) / (forward slash) (B) ~(caret)

(C) ! (exclamation) (D) % (percentage)

‘C’ T H Tefieh % ITINT GIT AIZeAl AT hY T fopaT STerl 2 |
(A) / (FHEE &) B) ~ ()

(C) ! (TFEFRTHTA) (D) % (TE=)

Which of the following is the correct truth table for NOR operation ?
= % ¥ ®F H NOR Y=o o fore wgt aemm™ amofi 8 7 3 '

v

(A)f A [ B [ANORB @) A B | ANORB
EANY F F F T
Fe T T F T F
T | F T T F F
T | T T T T F
(C)|_ A | B | ANORB ®|_A B | ANORB
F | F T F F T
F | T F F T F
T | F F T F T
T |..T T T T F
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153. What is the shortcut key to permanently delete a file without moving it to
“Recycle Bin” in Microsoft Windows ?

TEhETR frele # U wige @) frn ‘Femtea R § 99 g % e e
FAR T TR TR ?
(A) Ctrl + Alt + Delete

(B) Ctrl + Delete
(C) Shift + Delete

(D) Alt + Delete

Which of the following HTML tags is used to create a hyperlink in web pages ?
99 TS A U T o T % fove fr= 3 @ 29 A HTML 3 %1 s5an R

AR ?
(A) <link> (B) <a>

154.

(C) <1i> (D) <h1>

- Which of the following is not an essential componeant of a data
communication system ?

(A) Protocol (B) Medium (C) Message (D) Program
ﬁmﬁ@rﬁqm@@mwamaﬂmmqﬁf% ?
(A) T (B) mem (C) wem (D) W

156. Which of the following connectors is used %o

i UTP cable ?
WPW%%qﬁwﬁﬁaﬂqﬁaﬁmﬁmmm%mm% ?

(A) RI45  (B) BNC (C) S Type (D) AUI

.~ 157. Analloy used in making heating elements for electric heating devices is
| (A) Solder ~_(B) Alloy Steel (C) Nichrome (D) German Silver
| ﬁ@mmﬁmmmam%mﬁmm

1 I R ST R 7

(A) Hiest (B) ST (C) wEsm (D) i+ et
158. Brass is an alloy of

(A) Nickel and Copper (B) Zinc and Copper

(C) Nickel and Zinc (D) Nickel and Silver [

FIE T 3T B _ =

(A) Tfhe it i (B) T 3 siqw =y

(©) Tt afk R oy (D) ffhet 3R Riesr =
159, The type of glass in making lenses and prisms is

Eé) Soft glass (B) Pyrex glass

) Jena glass (D) Flint glass
?ﬂtﬁmwﬁﬂaﬁmaﬂqﬁm%ﬁa@ﬁ ?
(A) HR= wmy

(B) W wm® (C) Smiwmw (D) i
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160. Nautical mile is a unit of distance used in

(A) Astronomy (B) Navigation
(C) Road mile (D) None of these
20 1 T TS AT WIE 1 ST B 8

(A) @i o H (B) Ywad () teusad (D) 278 @ 1S Al

161. Element that is not found in blood is

(A) Tron (B) Copper (C) Chromium (D) Magnesium

T R T T TE IR S 2 .

(A) w8 (B) W ©) ®fem (D) FAREH
162. The number of ribs in human body is

e T & aeier i §E 3

A) 12 -~ (B) 18 (C) 20 (D) 24

163. The code of conduct of the Vedic society was laid out in which of the . _-
following texts ? :

(A) Vedas (B) Puranas (C) Upanishads (D) Smiritis
%ﬁﬁmﬁmﬁmﬁﬁﬁaﬁﬁaﬁﬁgﬂﬁ%mﬁaﬁwwm ?
A) ¥ B) T (C) 3ufwg (D) =i

164. Mahavira was born at
(A) Pataliputra (5) Sravasti (C) Rajagriha (D) Vaishali
TR 1 T4 g1 AT

(A) Teehgs  (B) AT (C) T (D) 3wt
165. Which is not an Indus Valley site ?

(A) Alamgirpur (B) Lothal

(C) Kaushambi (D) Balakot

2 o1 e Y g B @ 7

(A) e (B) WS (C) hrum=lt (D) SR
166. Under which Sultan, Khalisa land increased considerably ? |

(A) Balban (B) ‘Alauddin Khilji

(C) Firoz Shah Tughlaq (D) Muhammad bin Tughlaq

Gefran s, ford gedr o idTa faey ®9 3 ¥ ¢ ?

(A) Fo=d (B) oremsén Rawwsit

(C) - ToRTrst T8 TeTh (D) HewTe fom e
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167.

168.

169.

(C) |t iRt =t wHTIa 3R e

- 170,

O - R R

Which Mughal ruler has been called as the ‘Prince of Builders’ ?

(A) Babar (B) Akbar (C) Jahangir (D) Shahjahan
e et s Y “Fmtarat w1 TsEAR w1 ST R 7 ¢.
(A) T (B) 3TheT (C) WErR (D) wIgsTal

When Subhash Chandra Bose resigned as the President of Indian National
Congress, who was appointed in his place ?

(A) Dr.Rajendra Prasad (B) Abul Kalam Azad

(C) C.Rajagopalachari (D) Pattabhi Sitaramiah

Y T3 §I9 A S AT T HiE F rems e & seder i o d) 39
T R/ Frye gam ¢

(A) . T R (B) 3T e AT

(C) . TemuTeETR (D) u=hy Hard=r

The objective of Fundamental Rights in our Constitution is to provide
(A) Better material conditions to the citizens
(B) Social Justice

(C) Equality and freedom to all citizenz
(D) Economic Justice

| OF 0
AR Wi & iferes siferehrt 1 T e e g — &%}5
(A) iR i ser wfoes ittt

(B) wmIRTS =g

(D) i =y

b ¢ ¢ s . :
P ers of the Council of Ministers is made by the

(A) On the advice of the Prime Minister
(B) In his own discretion
(C) Onthe advice of the Vice President

(P) On the advice of the Lok Sabha Speaker

"R e g g e 4
WA) ST i e (B) sy Rrdw

(D) % qwT effex $ aeE ¥ _
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